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Forest Conservation Act of India was
amendedin:

(A) 1990

(B) 1998

(C) 1988

(D) 1980

Which one of the following gases cause
acid rain?

(A) Hydrogen

(B) Sulphur dioxide and nitrogen dioxide
(C) Methane

(D) Carbon dioxide

Concentration of Nitrogen in atmosphere :
(A) 70%

(B) 68%
(C) 21%
(D) 78%

Which of the following process results in
production of oxygen?

(A) Respiration by green plants

(B) Burning of fossil fuel

(C) Photosynthesis by green plants

(D) Burning of charcoal

Full form of IPCCiis :

(A) Intergovernmental Panel on Climate
Change

(B) International Panel on Climate Change

(C) Intercontinental Panel on Climate
Change

(D) None of these

ARG ®1 oA WU AfufEm wenfa gen
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10.

Carbon is one of the most important
elements for life in earth. In what form
carbon is found?

(A) Inorganic Carbon

(B) Organic Carbon

(C)

(D)

Carbon in gases
All the above

What is the full form of CPCB?

(A) Centre for Pollution Control Board
(B) Central Pollution Control Board
(C)

(D)

Centre Pollution Control Board
None of these

The year of Environmental Protection Act
in Indiawas :

(A) 1984

(B) 1985
(C) 1986
(D) 1987

Year of Air (Prevention and Control of
Pollution) Act was :

(A) 1981

(B) 1982

(C) 1983

(D) 1984

Ozone gasisfoundin:
(A) Stratosphere

(B) Mesophere

(C) Thermosphere
(D) None of these

10.
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11. Which of the following is an effect of acid

12.

13.

14.

15.

rain :

(A) Damage to aquatic life

(B) Damage to trees and plants

(C) Damage to buildings and materials
(D) All of these

Soundof............ decibel can cause major
permanent damage in short time.

(A) 150 db

(B) 40 db

(C) 190 db

(D) 140 db

State bird of Uttarakhand is :
(A) Monal

(B) Blue Kite

(C) Sparrow

(D) Crow

State Tree of Uttarakhand is :
(A) Oak

(B) Pine

(C) Buransh

(D) Deoadar

Environment Day is celebrated each year
on:

(A) 21st March

(B) 2nd February

(C) 5th June

(D) 16th September
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13.

14.

15.
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16. International day for the preservation of the
Ozone layeris celebrated every year :
(A) 21st March
(B) 2nd February
(C) 5th June
(D) 16th September

17. The origin of the river Gangaiis :
(A) Banaras
(B) Gangotri
(C) Kedarnath
(D) Rudraprayag

18. Which of the following is most affected due
to fire cracker during Deepawali?
(A) Birds
(B) Leopard
(C) Deer
(D) Humans

19. The national aquatic animal of Indiais :
(A) Blue Whale
(B) The Ganges River Dolphin
(C) Shark
(D) Octopus

20. Which of the following animal is associated
with goddess Laxmi in Hinduism?
(A) Monkey
(B) Owl
(C) Horse
(D) Rat

16. 3TSIM WA o G0 o fau iausa feag
B T TR S R s
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(D) 16 TR
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21.

22,

23.

24,

25.

What is the disadvantage of population
explosion?

(A) Extra burden on Natural Resources
(B) Unemployment

(C) Pollution

(D) All of the Above

What is the main source of energy?
(A) Sun

(B) Water

(C) Air

(D) None of the above

Every year the earth day is being
celebrated on:

(A) 22 March

(B) 21 March

(C) 22 April

(D) 21 April

Which of the following is an environmental
component?

(A) Air

(B) Water

(C) Plants

(D) All of the above

Any undesirable change in physical,
chemical and biological properties of the
environment component is known as :
(A) Climate change

(B) Urbanization

(C) Environmental pollution

(D) None of the above

21. SA9E e 9 = T 12
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26.

27.

28.

29.

30.

Which one of the following is the major
environmental issue?

(A) Use of natural resource

(B) Use of economy

(C) Education

(D) Employment

The Swachh Bharat Abhiyan was started
on:

(A) 2 October 2014

(B) 2 October 2015

(C) 2 October 2016

(D) 2 October 2017

Which is a primary consumer :
(A) Omnivores

(B) Herbivores

(C) Carnivores

(D) Green Plants

Energy and nutrients enter a community
by way of the :

(A) Producers

(B) Consumers

(C) Scavengers

(D) Detritivores

An ecosystem consists of :
(A) A community of organism
(B) Energy

(C) Soiland Weather

(D) All of the above

26.

27.

28.
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30.

frfefed & @ A 9 9@ JEeoid 19
27

(A) UIeRfaes FETEE 1 STAM

(B) stefeTazen &1 IUAN

(C) firem

(D) IR

oy AR ATHIH & T T e
(A) 2 TR 2014
(B) 2 @1==R 2015
(C) 2 31X 2016
(D) 2 s 2017

Tt U9 FF ©
(A) Fater
(B) IRTE
(C) wiEery
(D) & W

St 3R e acd e THEE o wow

[VAC - 09 ]



31.

32.

33.

34.

35.

Corbett National Park is located in which
state :

(A) Kerala

(B) Punjab

(C) Himachal Pradesh

(D) Uttarakhand

The place where an organism lives is
calledits:

(A) Habit

(B) Community

(C) Niche

(D) Habitat

An area of hot spots of biodiversity in India
is :
(A
(B
(C
(

Gangetic plains
Wastern Ghats
Southern region

D) Central Indian Region

SN— N N N

Which one is the example of ex-situ
conservation :

(A) National park

(B) Zoo
(C) Biosphere reserve
(D) Sanctuary

The transfer of energy from organism to
organism in a natural community establish:
(A) Food Chain

(B) Food Web

(C) Ecosystem

(D) Niche

31. wHide U= UM fHE 9§ fem 22
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33.
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36.

37.

38.

39.

40.

Concentration of oxygen in atmosphere :
(A) 70%
(B) 68%
(C) 54%
(D) 21%

Fullformof DOis:
(A) Dissolved oxygen
(B) Dilute oxygen

(C) Distilled oxygen
(D) None of these

Conservation of biodiversity inside the
natural habitat is called as :

(A) Ex-situ

(B) In-vitro

(C) Propagation

(D) In-situ

Which of the following is not an effect of
acid rain :

(A) Damage to aquatic life

(B) Damage to trees and plants

(C) Damage to buildings and materials

(D) Risein sea level

Green plants are called :
(A) Producer

(B) Consumer

(C) Decomposer

(D) None of these

10
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41.

42.

43.

44,

45.

Fossil fuels and metals are minerals :
(A) Renewable resources

(B) Non-renewable resources

(C) Unbreakable

(D) None of these

Which of the following is not a greenhouse
gas:

(A) Carbon Di Oxide

(B) Carbon monoxide

(C) Nitrous Oxide

(D) Methane

Which of the following is example of
environment friendly energy?

(A) Solar Energy

(B) Wind Energy

(C) Geothermal Energy

(D) All of the above

Which of the following is on the list of
Global Environmental issues?

(A) Biodiversity loss

(B) Global warming

(C) Desertification

(D) All of the above

Which is not a renewable source?
(A) Forests

(B) Coal

(C) Water

(D) None of the above

41.

42.

43.

44,

45.
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46.

47.

48.

49.

50.

The unit of temperature is :
(A) °C

(B) °F

(C) Both (A) and (B)

(D) None of the above

The continuous circulation of water
between ocean, atmosphere and land
represents :

(A) Water Cycle

(B) Oxygen Cycle

(C) Land Cycle

(D) None of the above

The rainfall can be measured by :
(A) Rain gauge

(B) Thermometer

(C)
(D)

Altimeter
None of the above

The imaginary lines on a globe that run
from North to South are known as :

(A) Latitude

(B)
(C)
(D)

Longitude
Both (A) and (B)
None of the above

The upper half of the Earth to the North of
the equatoris known as :

(A) Northern Hemisphere

(B) Southern Hemisphere

(C) Eastern Hemisphere

(D) Western Hemisphere

46.

47.

48.

49.

50.
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51.

52.

53.

54.

55.

Under which of the following provisions for
environmental protection were made in the
Constitution :

(A) Article 5A

(B) Article 21B

(C) Article 27B (h)

(D) Article 48A

The Wildlife (Protection) Act was enacted
in the year:

(A) 1986

(B) 1974

(C) 1994

(D) 1972

Project tiger was launched in the year :
(A) 1972
(B) 1973
(C) 1974
(D) 1975

The NGT Stands for:

(A) Non-Government Trust
(B) National Green Tribunal
(C) National Green Trust
(D) National Green Theory

What is SPCB?

(A) State Population Council Board
(B) State Pollution Control Board

(C) State for People Complain Board
(D) None of the above

13
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56.

57.

58.

59.

60.

In an ecosystem energy flow is :
(A) Unidirectional

(B) Bidirectional

(C) Multidirectional

(D) All of the above

Chipko Movement is connected to :
(A) Human Wildlife Conflict

(B) Flood Management

(C) Forest Fire Management

(D) Forest Conservation

Forest Research Institute is situated at :
(A) New Delhi

(B) Mumbai

(C) Dehradun

(D) Bhopal

Which layer of the atmosphere contains a
layer of sulphates which is important for
the formation of rain?

(A) Mesosphere

(B) Troposphere

(C) Stratosphere

(D) Thermosphere

Cold desert in India occurs at :
(A) Rajasthan

(B) Assam

(C) Ladakh

(D) None of the above
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61. Tehridam is constructed on the river:

62.

63.

64.

65.

(A) Alaknanda
(B) Saryu

(C) Bhagirathi
(D) Mandakini

Govind wildlife sanctuary is located in :
(A) Himachal Pradesh

(B) Jammu & Kashmir

(C) Sikkim

(D) Uttarakhand

‘Minamata disaster’ in Japan was caused
by Pollution due to :

(A) Lead

(B) Mercury

(C) Cadmium

(D) Zinc

Conservation of biodiversity outside the
natural habitat is called as :

(A) Ex-situ Conservation

(B) In-situ Conservation

(C) In-vivo Conservation

(D) None of these

Red data book contains data of :

(A) All plant species

(B) Allanimal species

(C) Endangered/Threatened species

(D) Economically important species

61.

62.

63.

64.

65.
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66.

67.

68.

69.

70.

BOD stands for :

(A) Biotic oxidation demand

(B) Biological oxygen demand
(C) Biological oxidation demand

(D) Biochemical oxidation demand

Which of the following is a greenhouse
gas?

(A) Methane

(B) Water vapor

(C) Carbon dioxide

(D) All of the above

Ozone day is celebrated on :
(A) 3rd January

(B) 16th September

(C) 10th November

(D) 26th March

A disease not caused by water pollution
is :

(A) Jaundice

(B) Cholera

(C) AIDS

(D) Dysentery

Process of photosynthesis is found in :
(A) Decomposers

(B) Producers

(C) Consumers

(D) Top consumers

66. st @1 A1 ®

(A) srifes sAfafeym femie
(B) st sifadisT femie
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71.

72.

73.

74.

75.

Who is associated with ‘Chipko
Movement'?

(A) Salim Ali

(B) Sundarlal Bahuguna

(C) Rachel Carson

(D) None of these

A food web consists of :

(A) A single food chain

(B) Many independent food chain
(C) Many interconnected food chains
(D) All of the above

Global warming is a consequence of
(A) Acid rain

(B) Greenhouse Effect

(C) Depletion of ozone layer

(D) Radioactive fall out

Edaphic factor refers to :
(A) Water

(B) Soil

(C) Relative humidity
(D) Altitude

Which of the following are the negative
health effects of noise pollution?

(A) Hypertension

(B) Hearing loss

(C) Stress and headache

(D) All of the above

71.

72.

74.

75.
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76. An example of e-waste is :

77.

78.

79.

80.

(A) Paper

(B) Plastic

(C) Industrial effluent
(D) Mobile phone

Which of the following is said to be a
biodegradable waste?

(A) Plastics

(B) Glasses

(C) Eggshell

(D) Polythene

Which of the following statement is
TRUE?

(A) Eco-System may vary in size

(B) Eco-Systems are always very large
(C) Eco-Systems are always very small
(D) None of these is true

Biotic component of biosphere is not
constituted by :

(A) Producers

(B) Consumers

(C) Decomposer

(D) Air

Soil erosion can be prevented by :
(A) Raising forests

(B) Deforestation

(C) Excessive use of fertilizer

(D) Overgrazing by animals

76. %= F TH IR T :

77.

78.

79.
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81.

82.

83.

84.

85.

The functional aspects of the ecosystem
are:

(A) Energy cycles

(B) Nutrient cycles

(C) Food chains

(D) All of the above

Which of the following is management
option for air pollution?

(A) Regulations and standards

(B) Transport planning

(C) Using CNG as fuel

(D) All of the above

Which among the following is not a cilmatic
factor?

(A) Pressure

(B) Humidity

(C) Temperature

(D) Sail

A herbivore is also known as a:
(A) Producer

(B) First order consumer

(C) Second order consumer
(D) Third order consumer

Day celebrated on July 11 is :
(A) World Environment Day
(B) World Population Day
(C) World AIDS Day

(D) World Education Day

81.

82.

83.

84.

85.
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86.

87.

88.

89.

90.

Formation of hole in Ozone is maximum
over:

(A) India

(B) Europe

(C) Antarctica

(D) Africa

Among the following what is true about
Biodiversity?

(A) Increases towards the equator

(B) Decreases towards the equator

(C
(D

) Remains same

) Has no effect on change in latitude
Which is not the characteristic of a
population?

(A) Natality

(B) Mortality

(C) Stratification

(D) Sexratio

Wild Life Institute of India is located in :
(A) Andaman

(B) Hyderabad
(C)
(D)

D) Bangalore

Dehradun

The organisms which feed on dead
organisms and excreta of living organisms
are known as :

(A) Decomposers

(B) Consumers

(C) Producers

(D) Carnivores

86.

87.

88.

89.

90.
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91.

92.

93.

94.

95.

In a food chain, humans are :

(A) Secondary consumers

(B) Primary consumer

(C) Producers

(D) Primary and secondary consumers
both

A product of photosynthesis is :
(A) Carbon dioxide

(B) Water

(C) Oxygen

(D) Chlorophyll

Atmosphere consists of 79 percent
Nitrogen and 21 percent Oxygen by :

(A) Volume

(B) Weight

(C) Density

(D) All of the above

Development activities on the hydrosphere
cause :

(A) Air pollution

(B) Soil pollution

(C) Water pollution

(D) Soil erosion

Energy from the heat inside the earth is
called :

(A) Natural gas

(B) Geothermal

(C) Petroleum

(D) Terrathermal

91.

92.

93.

94.
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96.

97.

98.

99.

Forestare :

(A) Renewable resource

(B) Non-renewable resources
(C) Inexhaustible resources
(D) None of these

Which of the following are major
environmental issues involved in mining?
(A) Air pollution

(B) Water pollution

(C) Soil degradation

(D) All of the above

Which of these is not a fossil fuel?
(A) Coal

(B) Qil

(C) Natural gas

(D) Uranium

World Forestry day is celebrated on :
(A) 21st March

(B) 5th June

(C) 1st December

(D) 7th June

100. Fossil fuel minerals are :

(A) Renewable resource

(B) Non-renewable resources
(C) Inexhaustible resources
(D) None of these

22
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